

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SGZ 3468U

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DENTED / TORN	598.20	496.70
1	FRONT BUMPER LOWER GRILLE	TORN	175.70	86.10
1	FRONT BUMPER LOGO	NECESSARY	63.70	63.70
1	FRONT BUMPER LOWER COVER GARNISH RH	NOT NECESSARY	197.20	-
1	FRONT BUMPER LOWER COVER GARNISH LH	NOT NECESSARY	164.30	-
2	FRONT BUMPER FOG LAMP COVER @\$68.00	NOT NECESSARY	136.00	-
2	FRONT BUMPER SIDE RETAINER @\$49.20	NOT NECESSARY	98.40	-
1	FRONT BUMPER REINFORCEMENT	TO REPAIR SEE LABOUR	375.90	-
2	FRONT BUMPER REINFORCEMENT BRACKET @\$89.00	NOT NECESSARY	178.00	-
1	FRONT RADIATOR GRILLE	CRACKED	412.90	295.10
1	FRONT RADIATOR GRILLE CHROME	NOT NECESSARY	182.00	-
1	FRONT GRILLE SUPPORT	NOT NECESSARY	143.00	-
2	HEADLAMP @\$449.60	NOT NECESSARY	899.20	-
1	FRONT SUPPORT PANEL	TO REPAIR SEE LABOUR	980.30	-
1	BOOT LID	BUCKLED	659.00	620.10
1	BOOT LID OUTER MOULDING	NOT NECESSARY	259.00	-
1	BOOT LID TOP LOCK	TWISTED	231.00	145.10
1	BOOT LID LOWER LOCK	NOT NECESSARY	35.00	-
1	BOOT LID WEATHERSTRIP	NOT NECESSARY	180.00	-
2	BOOT LID HINGE @\$70.00	NOT NECESSARY	140.00	-
1	BOOT LID LOGO	NECESSARY	60.00	48.50
1	REAR BUMPER	DISTORTED	591.00	459.75
2	REAR BUMPER REFLECTOR @\$90.00	N/S CRACKED	180.00	90.00
2	REAR BUMPER SIDE RETAINER (FRONT) @\$98.00	NOT NECESSARY	196.00	-
2	REAR BUMPER SIDE RETAINER (REAR) @\$55.00	NOT NECESSARY	110.00	-
2	TAIL LAMP @\$450.00	CRACKED	900.00	762.20
2	TAIL LAMP PANEL @\$276.20	TO REPAIR SEE LABOUR	552.40	-
2	REAR FENDER INNER PANEL @\$510.00	TO REPAIR SEE LABOUR	1,020.00	-

Report Ref No. CS/SMR21007596/Uuf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR FENDER INNER COWLING @\$61.10	NOT NECESSARY	122.20	-
2	REAR FENDER INNER TRIM @\$321.00	NOT NECESSARY	642.00	-
2	REAR FENDER AIR VENT @\$64.30	NOT NECESSARY	128.60	-
1	REAR END PANEL	BADLY DENTED	620.00	600.10
1	REAR END PANEL TOP GARNISH	NOT NECESSARY	230.00	-
1	REAR FLOOR PANEL	TO REPAIR SEE LABOUR	987.90	-
1	REAR FLOOR PANEL TOP BOARD	NOT NECESSARY	135.00	-
2	REAR FLOOR PANEL TOP SPONGE (SIDE) @\$221.10	NOT NECESSARY	442.20	-
1	REAR FLOOR PANEL TOP SPONGE (INNER)	NOT NECESSARY	298.10	-
1	REAR SPARE TYRE BOLT	NOT NECESSARY	48.00	-
2	REAR EXHAUST MOUNTING @\$25.00	NOT NECESSARY	50.00	-
1	REAR EXHAUST INSULATOR	NOT NECESSARY	261.70	-
1	REAR EXHAUST PIPE WITH BOX	NOT NECESSARY	780.00	-
	LESS 25% DISCOUNT		-3,615.98	-916.84
			10,847.92	2,750.51
	SPECIAL NETT ITEMS			
1	FRONT NUMBER PLATE (SN)	BENT	50.00	40.00
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	65.00	30.00
12	FRONT FENDER COWLING CLIPS @\$6.50 (SN)	NOT NECESSARY	78.00	-
1	RADIATOR COOLANT (SN)	NOT NECESSARY	40.00	-
1	REAR NUMBER PLATE (SN)	SERVICEABLE	50.00	-
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	65.00	30.00
1	BOOT LID SEALANT (SN)	NOT NECESSARY	80.00	-
4	BOOT LID OUTER MOULDING CLIP @\$6.50 (SN)	NOT NECESSARY	26.00	-
2	REAR FENDER SEALANT @\$80.00 (SN)	NOT NECESSARY	160.00	-
18	REAR FENDER INNER COWLING CLIPS (SN)	NOT NECESSARY	117.00	-
18	REAR FENDER INNER TRIM CLIPS @\$6.50 (SN)	NOT NECESSARY	117.00	-
1	REAR WINDSCREEN SEALANT (SN)	NOT NECESSARY	80.00	-
1	REAR WINDSCREEN INNER SEAL (SN)	NOT NECESSARY	60.00	-
4	TAIL LAMP CLIPS @\$8.00 (SN)	NOT NECESSARY	32.00	-
2	TAIL LAMP PANEL SEALANT @\$80.00 (SN)	NOT NECESSARY	160.00	-
6	REAR END PANEL TOP GARNISH CLIPS @\$6.50 (SN)	NOT NECESSARY	39.00	-

Report Ref No. CS/SMR21007596/Uuf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR END PANEL INSULATION SEAL (SN)	NOT NECESSARY	120.00	-
1	REAR FLOOR PANEL INSULATION SEAL (SN)	NOT NECESSARY	150.00	-
1	TRIANGLE BREAKDOWN SIGN (SN)	NOT NECESSARY	180.00	-
1	REAR EXHAUST CHROME PIPE (SN)	NOT NECESSARY	250.00	-
1	SET REVERSE SENSOR (SN)	SHORTED	220.00	200.00
			2,139.00	300.00
	<u>LABOUR</u>			
	PANEL BEATING, REMOVING AND REPLACING PARTS. (FRONT). INCLUSIVE OF THE REPAIR OF FRONT BUMPER REINFORCEMENT, FRONT SUPPORT PANEL AND TAIL LAMP PANEL.		800.00	200.00
	SPRAY PAINTING TO AFFECTED AREA. (FRONT)		800.00	280.00
	TUFF COAT. (FRONT)	NOT NECESSARY	150.00	-
	WIRING CHECK. (FRONT)		120.00	10.00
	REMOVE AND REFIX AIRCON CONDENSOR AND REFILL AIRCON GAS. (FRONT)	NOT NECESSARY	120.00	-
	REMOVE AND REFIX RADIATOR AND CONDUCT PRESSURE TEST. (FRONT)	NOT NECESSARY	80.00	-
	TO PANEL BEAT, WELD, CUT KNOCK, GRAZE, ADJUST, REPLACE NEW PARTS. (REAR). INCLUSIVE OF THE REPAIR OF REAR FENDER INNER PANEL AND REAR FLOOR PANEL.		1,800.00	1,000.00
	TO PUTTY, SPRAY PAINT, POLISH, WAX ADJACENT PANELS. (REAR)		1,800.00	800.00
	TUFF COAT. (REAR)		250.00	60.00
	WIRING / BULB CHECKING. (REAR)		80.00	20.00
	REMOVE AND REFIX CUSHION SEAT / UPHOLSTRY AND ROOF LINNING TO FACILITATE REPAIR. (REAR)		180.00	80.00
	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING. (REAR)		80.00	50.00
	REMOVE AND REFIX REAR EXHAUST. (REAR)	NOT NECESSARY	150.00	-
	TRANSFER BOOT LID MECHANISM. (REAR)	NOT NECESSARY	80.00	-
	TO CONDUCT WATER LEAKAGE TEST. (REAR)	NOT NECESSARY	80.00	-
	REMOVE AND REFIX REAR WINDSCREEN. (REAR)	NOT NECESSARY	120.00	-
	REMOVE AND REPLACE REAR DOOR LOCK. (REAR)	NOT NECESSARY	80.00	-
	REMOVE AND REFIX REAR UNDERCARRIAGE. (REAR)	NOT NECESSARY	650.00	-
	FOUR WHEEL ALIGNMENT. (REAR)	NOT NECESSARY	120.00	-

Report Ref No. CS/SMR21007596/Uuf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT / CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC. (REAR)	NOT NECESSARY	180.00	-
			7,720.00	2,500.00
	GRAND TOTAL		20,706.92	5,550.51

RECOMMENDED COST OF LUMP SUM REPAIRS		3,000.00
(TO ITS PRE-ACCIDENT CONDITION)		·

Report Ref No. CS/SMR21007596/Uuf3e2

CHUA KANG SENG

Licensed Appraiser